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DINFIR R () (2) 06 | RHUE S (Z27) 53 R R6.6~R7.3 216 216 27,820 27,820 R6
PONT SRR () (2) 06 | RHUE S (Z27) 53 R R6.6~R7.3 315 315 40,570 40,570 R6
AR (2) 06 | KBS (YT 7U—) 053 R R7.6~R7.12 1 1 82,872 82,872 R7
EREIS X7 Y] (VAN (2) 06 | KRBUEKIE (VT 7U—) 53 R R7.6~R7.12 1 1 25,364 25,364 R7
B (4) 06 | KREUEKIE (HENE) " R R8.2~R8.12 1 1 68,173 46,912 R7
B (4) 06 |KREUEKIE (HENE) = S R8.2~R8.12 1 1 68,173 7,986 R7
B (4) 06 | KREUEKIE (HENE) 7 R R8.2~R8.12 1 1 68,173 10,824 R7
eVESi (4) 06 | KREUEKIE (HENE) % R R8.2~R8.12 1 1 41,829 28,235 R7
eVES (4) 06 | KREUEKIE (HENE) == S R8.2~R8.12 1 1 41,829 7,643 R7
VLS (4) 06 | KREUEKIE (HENE) #H R R8.2~R8.12 1 1 41,829 3,539 R7
R SCB A% (4) 06 | KREUEKIE (HENE) " R R8.2~R8.12 1 1 56,296 34,484 R7
R S A% (4) 06 | KREUEKIE (HENE) = S R8.2~R8.12 1 1 56,296 5,828 R7
R SCB A% (4) 06 | KREUEKIE (HENE) 7 R R8.2~R8.12 1 1 56,296 9,714 R7
FITEDSHRAL (4) 06 | KRHUEKIE (HENE) " R R7.11~R8.9 1 1 58,749 36,215 R7
BIFIZOIHRFRL (4) 06 | KRHBUEKIE (HENE) % S R7.11~R8.9 1 1 58,749 5,291 R7
BIHEDOTIRFIR (4) 06 | RHURSGE BENE) = R R7.11~R8.9 1 1 58,749 755 R7
BIHEDOTIRFIK (4) 06 | RHURSGE BENE) = S R7.11~R8.9 1 1 58,749 9,826 R7
DINE SRR (4) 06 |KRHBUEKIE (HENE) " R R7.11~R8.9 1 1 30,624 27,618 R7
DN (4) 06 | RBURSGE BENE) = S R7.11~R8.9 1 1 30,624 57 R7
PINT R (4) 06 |KRBUEKIE (HENE) 7 R R7.11~R8.9 1 1 30,624 2,727 R7
DN IABFAL S LD 538 (4) 06 |KRBUEKIE (HENE) % R R7.11~R8.9 1 1 16,246 12,242 R7




DINE RS Cindo oK (4) 06 | KBS (BENE) 53 S R7.11~R8.9 16,246 3,174 R7
CEBT L (4) 06 | KBS (EENE) 53 R R8.2~R8.12 20,713 15,835 R7
CEIBT L (4) 06 | KBS FENE) = R R8.2~R8.12 20,713 4,008 R7
[ERE S E 23N (4) 06 | KBRS (FENE) 53 R R7.11~R8.9 11,279 11,163 R7
SUSSIEL (4) 06 | KREUKLKIE (EENE) 53 R R8.11~R9.9 51,640 41,750 R8
SUSLSIEL (4) 06 | KREUKLKIE (FENE) = S R8.11~R9.9 51,640 5,938 R8
DACIERFRL (4) 06 | KBRS (FENE) 53 R R8.11~R9.9 57,586 48,608 R8
DACIERARL (4) 06 | KBS (FENE) 53 S R8.11~R9.9 57,586 1,107 R8
DA TR (4) 06 | KREUEKIE (HENE) = S R8.11~R9.9 57,586 6,250 RS
B S A B R (4) 06 | KREUEKIE (HENE) 53 R R7.11~R8.9 60,714 34,227 R7
B S A B R (4) 06 |KREUEKIE (HENE) = S R7.11~R8.9 60,714 9,048 R7
B S A B R (4) 06 | KREUEKIE (HENE) # R R7.11~R8.9 60,714 2,404 R7
B 1,545,765 610,034
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